® 2x+3y+3

A-B=(3x-y+1)—(-x+2y-2)
=3x-y+1+x-2y+2
=4x-3y+3




T f(x) = 3x3 - Tx? + 5x+ 28 3x— 12 Ui wf o] b Y2 &
T-5HH?

@D%:x14u+1,qmﬂ:3

@ a2+ 1, 4] 2

@ H:x2+2x+1,4HA 3

@ HZix+2x+1,4HA 12

® Fix42x+1,4HA 1

AU T 2 YA ol 8510l Fake W0l A
f(x)=0@Bx-1) (x> -2x+1)+3
A2 -2x+ 1, UHA] 3




0]9] A= xof thote] x2-3x+2 = a+bx+cex(x—1)+dx(x—1)(x—2)
AL W, a+b+c+dY FE FSHE? (Ha, b, ¢, d=

)

o N, 1o

x=0E Y a =2
x=12 st b= -2
x=22 HUstH c=1
37k glovgg =0
“a+b+c+d=1




4. f(x)=2x"-2x+k7tx-28 o] Dol of, kO] g2?

© 0 @1 ® -8 @ -10 (@_12

f@) =26~ 2x+k 7} x-2 2 1w0] Foj@
2 gelo] oJsf £(2) = 16 -4+ k=0
Sok=-12




xy@A2? (Hi= V-1)

@® 3 @)-3 ® o0

@ 5

X+y+(2x—y)i=2+7i
Sx+y-2+2x-y-7)i=0
=2x+y-2=0,2x—-y-7=0
AHSHH, x =3, y=-1




@ 3 ® 6 @9 ® 36

D1




7. (P +ax+2)(x2+bx+2)E AAMAS W, 2 39 AFE BT 0
o] H|A St= &= a, boll tiste] a + b o] 27

N w

@ -2 @—1 @1 @ 2 ®

B

(x3 +ax +2)(x® + bx + 2)

= x5+ bx* + (a+2)x3 + (ab + 2)x® + (2a + 2b)x + 4
(x2 9] AF)=(x* AF)=00]B=
ab+2=0,a+2=0

et g =-2, b=1

La+b=-1




k)

FA 2x° +ax® + bx+8°] x— 13 x -2 2 Z}Zf ypo] oA &
A
1 O

She A% 0, b 27
@a:—Q,b:—S @ a=3,b=4
®a=-1,b=-3 @ a=4, b=-2

®a=-3,b=7

B

flx)=2x3+ax®> +bx+82 FOH
x—= 1% x - 2= 247 e gl& ol A7 00]B= f(1) =
0, f(2) = 0°]ofoF gtk
S f)=2+a+b+8=0,
F(2) = 16+ 4a+2b+8 =0
Soa+b=-10, 2a+b=-12
T AS dgste] EHa=-2, b=-8




9. @b+ b%c-b3-ad*cE AFES|5tA?

@ (a+b)(a-b)(b+c) @ (a-b)(b-c)(c+a)
@ a-b)a+h)b-o) @ (a-b)(a+b)c-a)
® (a=b)(b+c)(c—a)

a?b + b%c - b® — a’c
=a’(b-c)-b*>(b-c)
=(a-b)(a+b)(b-c)




it
e

5 obghA) 222 4 20— 49} 400 - 40] B Aot £ ghe AL
I2H?
® F P (x- 1) E vhro] Mol HE, (x-1) L F
ok o] ool ct
@ F gL FH47t glonz HEdvtoht,
® 4(r-1)3(x+ 22 + x + 1) 5 chabAl o] gejolct,
@ F okgA o] HBopSE 2(x— 1) olth
@)= Aol Aa TS (x+2)(x—1)2(3 +x + 1) oIk,

LB ~
2x% +2x -4 =2(x-1)(x +2)

43 -4 =4(x-1)(x> + x+1)

Hhgors  2(x- 1)

Al 4x-1)(x+2)(x2 +x+1)




2 _
11 o= 4, 22 -4z -1 9 ghs 7oHE?
—1

® -1 @ 2 ® -3 @ 4

B

2

Zzl—_izl—i-i

w222 —4z-1 =2(14+i)2-4(1+i)-1
=4i-4-4i-1

= -5




DO 1+ @)2+i ® 2+2i

z=a+bi & stHz=a-bi o|EZ
(1-2i)(a+bi)—i(a—bi)=a+bi—2ai+2b—ai-b
=(a+b)+ (-3a+b)i=3-5i

et a4+ b=3,-3a+b=-5°|2& AYslo] ZH
a=2,b=1

wbA] z =2+ ot




@ 3

¥ —tx+1=009°A4 x & 50|
D=1-4>0 .12>4,1t<-2

=
TE1>2




14. 2x2 +4x-1=09 F 22 o, & W, o?8 + ap? 2] 427

® -2 @ -1 @0 @1 ® 2

B

1
a+pB=-2, a'ﬂ=—§

sd?B+ap?=aBla+p) = —% x(=2)=1




15. 547 (2 + 1)y - (k+3)x+ 10 = 0 o] k] Zol BARO] T4 4
SHES she 4% .y ol thtel x4y 9] ghe?

® 5 @5 ® 7 @ 8 ® 9

B )
(E )= (y-3x+10) + (2y—x) k=0
L 2y=xy-3x=-10
Lx=4,y=2
LX+y=6




® 2 @ 3 ® 4 @ 5 ®)s




17, X 9 AS7E1 A AATFA f(x) Ex-Lx-2,x-3 2= U
UM A7 22} 2,4,6 L ®, f(x) E x-4 2 UE UYHAE FoHH?

@ 2 @ 5 ® 7 RN ©) I

B

f) =2 f(2) =4, f(3) =6
fx)=(x-1)(x-2)(x=3)+ax®> +bx+c
a+b+c=2,4a+2b+c=4, 9a+3b+c=6
a=0,b=2,¢c=0

f) = -D(x=-2)(x=3) +2x
f(4)=3x2x1+8=14




(2x-1)(2y-1)

__101 T O
18 Gt @one g &yl Ak
1 1 1 1

o5 ©-5 0; @

B

2x—1=u, 2y—-1=vetE°H

uy 1
—_— A
e 5 A
u? +v? = =2uv, (u+v)2=0
“ut+v=0

@2x-1)+(2y-1)=0,x+y=1




@ x2-x-2 ® x2-x+2

B

L=abG,G = x—1°A

L=(x-1)*(x+2)

A=(x-1)2% B=(x-1)(x+2)

A+B=(x*-2x+1)+ (x> +x-2)
=2x>—x—-1




1A (1-i)x? + (14 3i)x—2(1+i) = 0] F 2L o, &}

w, o2 + 52 9] FHE? (0= V1)

©-+4 @3 002 ®-1 00

ok

Fol7 A 9| ool 1 + i B
1 +HA =i+ A+ )A+3)x-20+)H1+i) =0
2x2 + (4i —2)x - 2(2i)) =0

)
¥4+ (2i-1)x-2i=0
(x+2))(x-1)=0
Lx=-2FEEx=1

et g = (202 +12=-3




